Price Schedule

2008

SRCLANCY

QUALITY SINCE 1885

Design, Manufacture and Installation
of Theatrical Equipment Worldwide




Field Check Worksheet

Complete form and fax to Dealer Project Manager at 315-451-1766.

Job Name: Date Completed:
Job Location: Completed By:
Room/Venue: Company Name:

Special Conditions Loft Block Mounting

I‘- A ->| - A M
= B N
C 0
B
D P
C B.0. STEEL
DIM D" I
4¢, -f_ =|= S R z
Q P TOP OFGRID
" ,‘ 0 _—l DINR"

=

-]

=
I-—L——I

Double Head Block Beam Mounting Single Head Block Beam Mounting
~—F —t= Al - Al F ' A—‘
‘ $ DIM “El“ $ DIM 'E"

c1 T
B
DIN D" [C DMD E1 DIM'D" ‘ [C
T.0. STEEL T.0. STEEL f

o O W >
=]
-

B.0. STEEL B.0. STEEL

DIM'H F G DIM"H
h i H ) h %

] | TOP OF GUIDE ] i
| K_____ |

| EDGE OF GALLERY |

K 1 |

I K i

©2008 J.R. CLANCY, INC.
Field Notes:

’Rw 2008 PRICE SCHEDULE = TEL: 315-451-3440 = FAX:315-451-1766 = www.jrclancy.com = 1-800-836-1885



2008 Price Schedule

Be sure to include a completed Field Check Worksheet with your order to avoid delay.

Head Blocks - J-Guide/T-Bar

CAST IRON NYLON
Description Weight (Ibs) Product Code List Price (Ea) | Weight (Ibs) Product Code List Price (Ea)

Single Purchase — Upright Head Blocks

8", 6 Line 46 1CS-60855R 475.00

8", 8 Line 52 1CS-80855R 550.00

12", 6 Line 72 1CS-61255R 485.00 Q 40 1NS-61255R 510.00
12", 8 Line | 79 1CS-81255R 530.00 Q | 41 1NS-81255R 525.00
12", 10 Line 86 1CS-101255 730.00

16", 6 Line 140 1CS-61655R  1,700.00

16", 8 Line | 147 1CS-81655R  1,750.00 |

Single Purchase — Underhung Head Blocks

8", 6 Line 46 1CS-60859R 475.00

8", 8 Line o 1CS-80859R  550.00

12", 6 Line 74 1CS-61259R 485.00 Q 40 1NS-61259R 510.00
12", 8 Line 80 1CS-81259R 530.00 Q 41 1NS-81259R 525.00
12", 10 Line . 86 165101259  730.00

16", 6 Line 140 1CS-61659R  1,700.00

16", 8 Line 147 1CS-81659R  1,750.00

Double Purchase — Upright Head Blocks

12", 6 Line 76 1CD-61255R 515.00 44 1ND-61255R 555.00
12", 8 Line 84 1CD-81255R 605.00 46 1ND-81255R 595.00
Double Purchase — Underhung Head Blocks

12", 6 Line 78 1CD-61259R 515.00 44 1ND-61259R 555.00
12", 8 Line 85 1CD-81259R 605.00 46 1ND-81259R 595.00

Head Block Options — See page 2 for required ordering dimensions

Description Weight (Ibs) Product Code List Price (Ea)
Mounting Clip, All Sizes — 2 required per block 2.5 070-CLIP 8.50 Q
Mounting Angle for Underhung Head Block — 2 required per block 9 070-CA 22.00 Q
Add Wire Guide Tieoffs — Change the last letter on the order number from “R” to “W” N/C
Special Grooving and Sheave Material — Available upon request P.O.R.

Q - Quick Ship - See page 15 for details

Head Block Components

M Cast iron or molybdenum disulphied filled nylon sheave.
8" and 12" blocks have 1/4" cable grooves and 3/4" rope groove, with 1" tapered roller bearings.
M 16" blocks have 3/8" cable grooves and a 1" rope groove, with 1-1/2" tapered roller bearings.

1CS-61259R —
Single Purchase Head Block,

Mounting Hardware: Underhung

M Order separately from Head Block Options.
B Upright head blocks require two mounting clips #070-CLIP — specify beam thickness.

B Underhung head blocks require two mounting angles #070-CA — specify beam thickness and
spacing. Welding recommended.

M Clips and angles are furnished with bolts, flat washers and lock nuts.

1CD-61255R .
Double Purchase Head Block, Upright

2008 PRICE SCHEDULE = TEL: 315-451-3440 = FAX: 315-451-1766 = www,jrclancy.com = 1-800-836-1885 ’Rw

f—
<
LLl
=
o
=)
(@ 4
LLl
o
=
o)
O
(1




=8 Loft Blocks —1/3" Cable Type
]
m Description Weight (Ibs) Product Code List Price (Ea) § Weight (Ibs) Product Code List Price (Ea)

19 Series
E 8", 1 Line, Ball Bearing, 3/8" Throat 14 2CC-10819R 128.00 9 2NC-10819R 92.00 Q
m 8", 2 Line, Ball Bearing, 3/8" Throat 14 2CC-20819R 143.00 10 2NC-20819R 170.00
— 8", 1 Line, Tapered Bearing, 3/8" Throat 14 3CC-10819R 154.00 9 3NC-10819R 118.00
: 8", 2 Line, Tapered Bearing, 3/8" Throat 14 3CC-20819R 169.00 10 3NC-20819R 196.00

8", 4 Line, Tapered Bearing, 3/8" Throat 34 3CC-40819R 325.00 25 3NC-40819R 315.00
c 8", 8 Line, Tapered Bearing, 3/8" Throat 44 3CC-80819R 405.00 28 3NC-80819R 410.00
m 8", 10 Line, Tapered Bearing, 3/8" Throat 49 3CC-100819R  795.00 30 3NC-100819R  575.00

12", 1 Line, Tapered Bearing, 3/8" Throat a7 3CC-11219R 380.00
G Universal Series
Z 8", 1 Line, Ball Bearing 20 2CC-10855R 123.00 15 2NC-10855R 87.00 Q
—_— 8", 2 Line, Ball Bearing 20 2CC-20855R 137.00 16 2NC-20855R 165.00
G 8", 1 Line, Tapered Bearing 20 3CC-10855R 149.00 15 3NC-10855R 113.00
G 8", 2 Line, Tapered Bearing 20 3CC-20855R 163.00 16 3NC-20855R 196.00
— 8", 4 Line, Tapered Bearing 40 3CC-40855R 325.00 31 3NC-40855R 315.00
m 8", 8 Line, Tapered Bearing — Upright 52 3CC-80855R 405.00 32 3NC-80855R 410.00

8", 8 Line, Tapered Bearing — Underhung 52 3CC-80859R 405.00 32 3NC-80859R 410.00

8", 10 Line, Tapered Bearing — Upright 55 3CC-100855 775.00

8", 10 Line, Tapered Bearing — Underhung 55 3CC-100859 775.00

12", 1 Line, Tapered Bearing 50 3CC-11255R 390.00

12", 2 Line, Tapered Bearing 50 3CC-21255R 595.00

12", 8 Line, Tapered Bearing — Upright 74 3CC-81255R 550.00

12", 8 Line, Tapered Bearing — Underhung 74 3CC-81259R 550.00

16", 1 Line, Tapered Bearing — Steel Sheave 110 3CC-11655R  1,350.00

Loft Blocks — 3/16" Cable Type

NYLON
Description Weight (Ibs) Product Code List Price (Ea)

19 Series

8", 1 Line, Ball Bearing, 3/8" Throat 9 2NP-10819R 92.00 Q
8", 1 Line, Tapered Bearing, 3/8" Throat 9 3NP-10819R 118.00

8", 8 Line, Tapered Bearing, 3/8" Throat 28 3NP-80819R 410.00
Universal Series

8", 1 Line, Ball Bearing 15 2NP-10855R 87.00 Q
8", 1 Line, Tapered Bearing 15 3NP-10855R 113.00

8", 8 Line, Tapered Bearing — Upright 32 3NP-80855R 410.00

8", 8 Line, Tapered Bearing — Underhung 32 3NP-80859R 410.00

Q - Quick Ship - See page 15 for details

2NC-10855R 4NR-50855R 2NC-10819I
Universal Loft Block Multi-Sheave Block 19 Series Loft Block

’RCLM 2008 PRICE SCHEDULE = TEL: 315-451-3440 = FAX:315-451-1766 = www.jrclancy.com = 1-800-836-1885




Loft Blocks — 3/42"" Rope Type

CAST IRON NYLON
Description Weight (Ibs) Product Code List Price (Ea) | Weight (Ibs) Product Code List Price (Ea)

Underhung Loft Blocks—19 Series

8", 1 Line, Ball Bearing, 3/8" Throat 10 2CR-10819R 135.00 7 2NR-10819R 95.00
Universal Loft Block—55 Series — May be upright or underhung
8", 1 Line, Ball Bearing 18 2CR-10855R 130.00 15 2NR-10855R 90.00

Multi Sheave Blocks

CAST IRON NYLON
Description Weight (Ibs) Product Code List Price (Ea) | Weight (Ibs) Product Code List Price (Ea)

Multi Sheave Blocks — 55 Series — May be upright or underhung

8", 2 Sheave, Ball Bearing, 3/4" Rope Groove 27 4CR-20855R 370.00 21 4NR-20855R 280.00
8", 3 Sheave, Ball Bearing, 3/4" Rope Groove 35 4CR-30855R 450.00 26 4NR-30855R 320.00
8", 4 Sheave, Ball Bearing, 3/4" Rope Groove 42 4CR-40855R 535.00 31 4NR-40855R 355.00
8", 5 Sheave, Ball Bearing, 3/4" Rope Groove 50 4CR-50855R 620.00 36 4NR-50855R 390.00
Multi Sheave Block Options

1/4" Cable Grooves — Change 3rd character in the order number prefix from an “R” to a “C” N/C

Loft Block Options — See page 2 for required ordering dimensions

Description Weight (Ibs) Product Code List Price (Ea)
Clip Pack — 4 J-Bolts, 2 Clips, 1 U-Clip & Hardware 3.5 070-CP 26.00
Mounting Clip, All Sizes — 2 required per block 2.5 070-CLIP 8.50 Q
Unistrut™ Mounting Bracket (1 line 55 series blocks) — 2 required per block 1 070-UNI 8.50 Q
Pivot Bracket (For beams 4" - 8-1/2" wide for single line 55 series blocks) — Includes clips 12 070-PIVOT 130.00
Add Tieoff for Wire Guided Clew 1 3CC-HBTO 36.00
Add Idlers to 8" Underhung Blocks — Change last letter to “I3” or “I6” to indicate 3 or 6 idlers 1 22.00
Special Grooving and Sheave Material — Available upon request P.O.R.

Q - Quick Ship - See page 15 for details

A CAUTION

B 17mm sealed precision ball bearings or tapered roller bearings in 8" blocks. Clips can be furnished
B 1" tapered roller bearings in 12" and 16" blocks and in 8" blocks with 4 or 8 cable grooves. for mounting and/or
Mounting Hardware: 19 Series Loft Blocks alignment of blocks.

M 19 Series blocks include angle clips. Under certain conditions,

® Blocks have a 3/8" throat with a grip range of 4" - 9". Change the suffix from “R” to “U” for a it may be necessary to
3/4" throat with a 4-1/8" - 10" grip range. weld blocks to structure

. . due to imposed loads.
Mounting Hardware: 55 Series Loft Blocks

M 55 Series blocks require two mounting clips, specify beam thickness. Clips are furnished with bolts,
flat washers and lock nuts.

B Blocks have a 24" base angle with universal punching for a grip range up to 20".
B Brackets are available for Unistrut™ mounting #070-UNI.

M Pivot adaptors bolt to the base angles and include mounting flanges. Specify beam thickness.
Pivot adaptors may need to be welded in place.

M 8-Line blocks have the base angles turned in, requiring different upright and underhung models.

2008 PRICE SCHEDULE = TEL: 315-451-3440 = FAX: 315-451-1766 = www,jrclancy.com = 1-800-836-1885 ’RCLM

f—
<
LLl
=
o
=)
(@ 4
LLl
o
=
o)
O
(1




(-
<
LL
=
o
=
(@ 4
LLl
o
=
o)
O
o

Mule Block Components

M Cast iron sheave.

B 17mm sealed precision ball
bearings or tapered roller
bearings on 1 and 2 line 8"
blocks and 1" tapered roller
bearings on all others.

W 1/4" cable grooves are standard.

Mounting Clips:
B Clips with bolts, flat washers
and lock nuts are available.

M Mule blocks need to be welded
in place after alignment.

5C3-40812C
4 Line Mule Block
with Optional Wire Guide Tieoff

Floor Block Components

M 3/4" rope groove standard.

Mounting Shoes:

B “Welch” tension blocks are
furnished with shoes. Specify
6" or 8" centers when ordering.

CALL US
ANYTIME!

We’re always ready
to answer your questions
or to provide assistance.

1-800-836-1885

6CR-1015
Welch Tension Floor Block

Mule Blocks

Description Weight (Ibs) Product Code List Price (Ea)
8", 1 Line, Ball Bearing, Cast Iron 30 5C2-10812C  370.00 Q
8", 1 Line, Tapered Bearing, Cast Iron 30 5C3-10812C 395.00
8", 2 Line, Ball Bearing, Cast Iron 31 5C2-20812C 390.00
8", 2 Line, Tapered Bearing, Cast Iron 31 5C3-20812C 415.00
8", 4 Line, Tapered Bearing, Cast Iron 49 5C3-40812C 495.00
8", 8 Line, Tapered Bearing, Cast Iron 56 5C3-80812C  575.00 Q
12", 1 Line, Tapered Bearing, Cast Iron 60 5C3-11212C 700.00
12", 8 Line, Tapered Bearing, Cast Iron 88 5C3-81212C 920.00
Mule Blocks Options
Mule Block Swivel 15 5C2-SWIVEL 290.00
Mule Block Stand for 1 & 2 Line Blocks 30 5C2-850S 325.00
Mule Block Stand for 4 & 8 Line Blocks - 5C2-850HS 750.00
Mounting Clips, All Sizes 25 070-CLIP 8.50 Q
Add Tieoff for Wire Guided Clew 1 3CC-HBTO 36.00

Floor Blocks

Description Weight (Ibs) Product Code List Price (Ea)
“Welch” Tension Floor Blocks

10", Cast Iron 41 6CR-1015 210.00 Q
10", Cast Iron (Less than 6" centers) 43 6CR-1015U 330.00
12", Cast Iron 48 6CR-1215 295.00
Combination Floor Blocks
8", Fixed Cast Iron Block with Rope Lock 49 6CR-118 385.00
8", Fixed Nylatron Block with Rope Lock 46 6NR-118 340.00
10", Adjustable Cast Iron Block with Rope Lock 71 6CR-218 470.00 Q
12", Adjustable Cast Iron Block with Rope Lock 80 6CR-418 615.00
Miscellaneous
8", Wire Guide Floor Block, 8" Cast Iron 18 6CR-855M 160.00
8", Wire Guide Floor Block, 8" Nylatron 15 6NR-855M 125.00
Floor Block Clip Package (Required for 855M Series blocks) 3.5 070-FBCP 26.00
12", Cast Iron Sliding Tension Pulley 40 6CR-1218 530.00
16", Cast Iron Sliding Tension Pulley 64 6CR-1618  1,850.00
Floor Block Options
Adder for 7", 9" or 10" Shoes (Order 2 per block) - Specify Size 13.00

Q - Quick Ship - See page 15 for details

6CR-118 6CR-218
Fixed Cast Iron Block with Rope Lock Adjustable Cast Iron Block with Rope Lock

’RCLM 2008 PRICE SCHEDULE = TEL: 315-451-3440 = FAX:315-451-1766 = www.jrclancy.com = 1-800-836-1885



Counterweight Arbors =
Description Weight (Ibs) Product Code List Price (Ea) Z
J-Guide/T-Bar Counterweight Arbor, Single Purchase—15 Series m
&', )-Guide/T-Bar Arbor 56 007-15%04  315.00 = |- Suide,T-ar arbors ave provided
5', J-Guide/T-Bar Arbor 63 007-15X05 325.00 Double Purchase: E
6', J-Guide/T-Bar Arbor 71 007-15X06  335.00 Q S R TS m
7', J-Guide/T-Bar Arbor 78 007-15X07 345.00 M 1/4" cable grooves and 3/4" |
8, J-Guide/T-Bar Arbor 85 007-15X08  355.00 Q rope groove. o :
M 1" tapered roller bearings in

9', J-Guide/T-Bar Arbor 92 007-15X09  365.00 top sheave. OI
10', J-Guide/T-Bar Arbor 99 007-15X10 375.00 AT m
11', J-Guide/T-Bar Arbor 106 007-15X11 395.00 ® Adjustable shoes for 6" - 8"
12", J-Guide/T-Bar Arbor 113 007-15X12  405.00 centers are included with

. 15 Series Arbors. G
13', J-Guide/T-Bar Arbor 122 007-15X13 415.00 ® Bronze guides are furnished
J-Guide/T-Bar Counterweight Arbor, Double Purchase—15 Series on 84 Series arbors. Z
6 Line Arbor, 6' 113 008-615X06 900.00 —
6 Line Arbor, 7' 120 008-615X07 910.00 w
6 Line Arbor, 8 127  008-615X08  920.00 G
6 Line Arbor, 9' 134 008-615X09 930.00 ]
6 Line Arbor, 10' 141 008-615X10 940.00 m
6 Line Arbor, 11 148 008-615X11 950.00
6 Line Arbor, 12' 155 008-615X12 960.00
6 Line Arbor, 13' 163 008-615X13 970.00
8 Line Arbor, 6' 119 008-815X06 960.00
8 Line Arbor, 7' 126 008-815X07 970.00
8 Line Arbor, 8' 133 008-815X08 980.00
8 Line Arbor, 9' 140 008-815X09 990.00
8 Line Arbor, 10' 147 008-815X10 1000.00
8 Line Arbor, 11' 154 008-815X11  1010.00
8 Line Arbor, 12' 161 008-815X12  1020.00
8 Line Arbor, 13' 169 008-815X13  1030.00 007-15X04
Counterweight Arbor Options J-Guide/T-Bar Arbor
Adder for Steel/UHMW Shoes 6", 7", 8", 9", 10" (Order 2 per arbor) Specify Size 45.00
Adder for Roller Guides (Order 2 per arbor) Specify Size 62.00 _-__
Special Shoes, Grooves and Materials — Available upon request P.O.R.
Wire Guide Counterweight Arbor, Single Purchase—85 Series
4', Wire Guide Arbor 34 007-85X04 280.00
5', Wire Guide Arbor 37 007-85X05 285.00
6', Wire Guide Arbor 40 007-85X06 290.00
7', Wire Guide Arbor 43 007-85X07 295.00
8', Wire Guide Arbor 46 007-85X08 300.00
Lattice Track Counterweight Arbor, Single Purchase—84 Series
4", Lattice Track Arbor 35 007-84X04 435.00
5', Lattice Track Arbor 38 007-84X05 440.00
6', Lattice Track Arbor 41 007-84X06 445.00
7', Lattice Track Arbor 44 007-84X07 450.00
8', Lattice Track Arbor 47 007-84X08 455.00
Q - Quick Ship - See page 15 for details 007-84X04

Lattice Track Arbor

2008 PRICE SCHEDULE = TEL: 315-451-3440 = FAX: 315-451-1766 = www.jrclancy.com = 1-800-836-1885 ’RCLM




(-
<
LL
=
o
=
(@ 4
LLl
o
=
o)
O
o

Rope Lock Components

B Vinyl coated oval safety ring and
mounting hardware are included.

B Optional padlock available to
restrict use.

010-600R 010-533R
SureLock® Rope Lock with
Optional Padlock

Counterweight Components

B Order by pounds not pieces.
B Weight and thickness
may vary £10%.
® Notched corners are included
for easy handling.

Options:
M Special sizes and shapes.

Locking Rail Components

M Write-on index cards included.

Options:
M Special construction and rope lock
spacing available upon request.

011-538R6
J-Guide Locking Rail

018-416
Mobile Capstan Winch

015-151405
Index Strip Light

Rope Locks

Description Weight (Ibs) Product Code List Price (Ea)
Ductile Iron Rope Lock 8 010-533R 125.00 Q
Padlock for 010-533R 1 010-PLOCK 22.00
SureLock® 20 010-600R 595.00
Replacement Lock Ring, Vinyl Coated 1 010-533C 5.00
Counterweight

Description Weight (Ibs) Product Code List Price
4" Wide X 1" Steel 12 009-4X1 1.10*%Q
4" Wide X 2" Steel 25 009-4X2 1.10*Q
6" Wide X 1" Steel 21 009-6X1 1.10*Q
6" Wide X 2" Steel 42 009-6X2 1.10*%Q

*Counterweights are sold in full pallets of 1,000 Ibs. only

Locking Rails

Description Weight (Ibs) Product Code List Price
J-Guide Locking Rail, Single Purchase, 6" Centers 18 011-538R6 110.00 ft.
J-Guide Locking Rail, Single Purchase, 8" Centers 18 011-538R8 110.00 ft.
J-Guide Locking Rail, Double Purchase, 6" Centers 18 011-538D6 175.00 ft.
J-Guide Locking Rail, Double Purchase, 8" Centers 18 011-538D8 175.00 ft.
Wire Guide Locking Rail, Single Purchase, 6" Centers 31 011-518R6 230.00 ft.
Wire Guide Locking Rail, Single Purchase, 8" Centers 31 011-518R8 230.00 ft.
Gallery Mounted Locking Rail, 6" Centers 20 011-558R6 165.00 ft.
Gallery Mounted Locking Rail, 8" Centers 20 011-558R8 165.00 ft.
Mobile Capstan Winch, 1500 Ib. capacity (Rope included) 400 018-416 13,500.00 ea.
Adder for Reaction Bar (Used with Capstan Winch) 6 011-BAR 34.00 ft.

Index Lights

Description Weight (Ibs) Product Code List Price
1 Circuit Index Strip Light, 5' UL Listed 15 015-151405 305.00 ea.
1 Circuit Index Strip Light, 10" UL Listed 30 015-151410 465.00 ea.
2 Circuit Index Strip Light, 5' UL Listed 15 015-251405 370.00 ea.
2 Circuit Index Strip Light, 10' UL Listed 30 015-251410 535.00 ea.
Qutrigger Bracket with 1-1/2" Half Clamp 30 015-96 140.00 ea.
Qutrigger Batten Sleeve with Wall Plate 4 015-96WS 45.00 ea.

Q - Quick Ship - See page 15 for details

’RCLM 2008 PRICE SCHEDULE = TEL: 315-451-3440 = FAX:315-451-1766 = www.jrclancy.com = 1-800-836-1885



Guide Tracks

Description Weight (Ibs) Product Code List Price Guide Track Components
J-Guide System, Aluminum, Natural Finish, 6" or 8" Centers 3 012-1650 10.00 ft.

f—
<
LLl
=
o
=)
(@ 4
LLl
o
=
o)
O
(1

M J-Guide and T-Bar Systems include:

J-Guide System, Aluminum, Black Anodized, 6" or 8" Centers 3 012-1650B 13.00 ft. « Vs or T's
A-Guide System, Heavy Duty, Black Anodized, 6" or 8" Centers 4 012-1751 19.25 ft. = Wall Battens
" " = Wall Knees
T-Bar System, Steel (>700 Feet), 6" or 8" Centers 4 012-1500 10.00 ft. « Stop & Floor Battens
T-Bar System, Steel (<700 Feet), 6" or 8" Centers 4 012-1501 14.00 ft. = Assembly Bolts, Nuts, Washers
Centers Other than 6" or 8" - 012-CTRS  add .50 ft. ¥ Order by linear feet of

guides required.

Lattice Track with Bottom Bracket (specify offset) 7 012-5049R 65.00 ft. m Anchors and wood stops
Lattice Track Spring Bottom Bracket 55 012-8049S 850.00 ea. not included.

Description Weight (Ibs) Product Code List Price Batten Components

Battens
m 1-1/2" Sch 40 Battens
1-1/4" i.d. Schedule 40 Pipe Batten 2.5 015-66R 14.00 ft. con{e with yellow endcaps.

1-1/2" i.d. Schedule 40 Pipe Batten 3 015-67R 9.00 ft. ® All battens come with

1-1/2" i.d. Schedule 80 Pipe Batten 4 015-67H 14.00 ft. self-adhesive numbers, hardware,
and sleeves.
2" i.d. Schedule 40 Pipe Batten 4 015-68R 14.00 ft.
6
7
1

2-1/2"i.d. Schedule 40 Pipe Batten 015-69R 22.00 ft.
1-1/2" Schedule 40, Two Pipe Truss Batten 015-67T 16.00 ft.

Yellow Batten End Cap for 1-1/2" Schedule 40 Battens . 099-BATCAP 1.70 ea.Q | s -
Batten Sleeves SRCLANCY

1-1/4" Batten Sleeve, No Holes, 18" Long 3 015-66S 19.00 ea. 099-BATCAP

1-1/2" Batten Sleeve, No Holes, 18" Long 3 015-67S 18.00 ea.Q Yellow Batten End Cap
1-1/2" Batten Sleeve, No Holes, Schedule 80, 18" Long 3 015-67HS 35.00 ea.

2" Batten Sleeve, No Holes, 18" Long 4 015-68S 21.00 ea.

2-1/2" Batten Sleeve, No Holes, 18" Long 9 015-69S 23.00 ea.

Pipe Clamps
Description Weight (Ibs) Product Code List Price (Ea)

1-1/2" Half Pipe Clamp 1.5 026-21X1.5 14.00
2" Half Pipe Clamp 1.5 026-21X2.0 14.00 026-21X1.5 026-22X1.5
i Half Pipe Clamp Full Pipe Clamp
1-1/4" Full Pipe Clamp 1 026-22X1.2 8.25
1-1/2" Full Pipe Clamp 1 026-22X1.5 7.50 Q
2" Full Pipe Clamp 1 026-22X2.0 11.00
2-1/2" Full Pipe Clamp 1.5 026-22X2.5 30.00 H
1-1/2" Batten Trim Clamp 2.5 026-23X1.5 57.00

026-23X1.5
Batten Trim Clamp

Forged Turnbuckles (madeinus.)

5/8" x 6" Jaw & Eye 2.6 032-224J&E 44.00

Description Weight (Ibs) Product Code List Price (Ea) )
5/16" x 4-1/2" Jaw & Eye 5 032-220J&E 27.00 O
3/8" x 6" Jaw & Eye 1 032-221J&E 30.00
3/8"x 6" Jaw & Jaw 1 032-221)&J) 34.00 I
1/2" x 6" Jaw & Eye 2 032-222J&E 32.00
1/2" x 12" Jaw & Eye 2.5 032-223J&E 48.00 032-221)&E

Jaw & Eye Turnbuckle
s

Q - Quick Ship - See page 15 for details

2008 PRICE SCHEDULE = TEL: 315-451-3440 = FAX: 315-451-1766 = www,jrclancy.com = 1-800-836-1885 ’RCLM




i3
o
Q
&
L
Q
Q
<
S
Z
S
O
=

019-A0375R
Round Pin Anchor Shackle

Anchor Shackles madeinus.)

3/16" Round Pin Forged Anchor Shackle 1 019-A187R 4.80
3/16" Screw Pin Forged Anchor Shackle 1 019-A187S 5.00
1/4" Round Pin Forged Anchor Shackle i 019-A250R 4.80
1/4" Screw Pin Forged Anchor Shackle 13 019-A250S 5.10
5/16" Round Pin Forged Anchor Shackle 2 019-A312R 6.60
5/16" Screw Pin Forged Anchor Shackle 2 019-A312S 6.40
3/8" Round Pin Forged Anchor Shackle .35 019-A375R 6.95
3/8" Screw Pin Forged Anchor Shackle .35 019-A375S 7.30

Thimbles
Description Weight (Ibs) Product Code List Price (Ea)

1/8", Galvanized Cable Thimble .04 023-125C 90 Q
i 3/16", Galvanized Cable Thimble .04 023-187C 90 Q

023-250C

Thi

02

mble

1-250C

Forged Cable Clip

025-250N
Oval Sleeve

025-2508
Stop Sleeve

025-3F6950

Cri

mping Tool

RCLANCY

1/4", Galvanized Cable Thimble .04 023-250C 45 Q
5/16", Galvanized Cable Thimble .04 023-312C 1.00
3/8", Galvanized Cable Thimble .08 023-375C 1.00

Forged Cable Clips (madeinu.s.)

1/8" Forged Cable Clip 1 021-125C 2.70

3/16" Forged Cable Clip 1 021-187C 295 Q
1/4" Forged Cable Clip 2 021-250C 4.10 Q
5/16" Forged Cable Clip 3 021-312C 4.30
3/8" Forged Cable Clip 5 021-375C 4.65
=

Nicopress’ Tools & Sleeves

Description Weight (Ibs) Product Code List Price (Ea)
Copper Oval Sleeves

1/8", Oval Sleeve, 18-3-M .05 025-125N .53
3/16", Oval Sleeve, 18-6-X .05 025-187N 1.57 Q
1/4", Oval Sleeve, 18-10-F6 .08 025-250N 225Q
5/16", Oval Sleeve, 18-13-G9 12 025-312N 3.950Q
3/8", Oval Sleeve, 18-23-H5 .15 025-375N 6.10 Q
Copper Stop Sleeves

1/8", Stop Sleeve, 871-18-J .01 025-125S .30
3/16", Stop Sleeve, 871-20-M .05 025-187S 45
1/4", Stop Sleeve, 871-23-F6 .06 025-250S 2.15
5/16", Stop Sleeve, 871-26-F6 .06 025-312S 2.15
3/8", Stop Sleeve, 871-27-F6 .06 025-3758 2.15
Crimping Tool for 1/8" Oval & Stop, 3/16" Stop Sleeves 6 025-51MJ) 340.00
Crimping Tool for 3/16" Oval Sleeves 6 025-51X850 340.00
Crimping Tool for 1/4" Oval & Stop Sleeves 15 025-3F6950 795.00
“Go Gauge” for Nicopress Sleeves - 025-2930 30.00

Q - Quick Ship - See page 15 for details

2008 PRICE SCHEDULE = TEL: 315-451-3440 = FAX:315-451-1766 = www.jrclancy.com = 1-800-836-1885



]
Wire Rope N
Description Weight (Ibs) Product Code List Price m
_—
2500' Reels
B Manufactured to Federal
1/8", 719 Galvanized Utiity Cable 03 020125 A7 1 e T o
3/16", 7x19 Galvanized Utility Cable .07 020-187 22f.Q O
1/4", 7x19 Galvanized Utility Cable A1 020-250 27 . Q m
5/16", 7x19 Galvanized Utility Cable .18 020-312 45 ft. m
3/8", 7x19 Galvanized Utility Cable 25 020-375 .63 ft.
500' Reels I I I
1/8", 7x19 Galvanized Utility Cable 15 020-125-5 100.00/roll 0
3/8", 7x19 Galvanized Utility Cable 90 020-375-5 340.00/roll E : Iﬁ — O
H H H 015-798 <
Miscellaneous Rigging Hardware
D] Weight (Ibs) Product Code List Price (Ea) G
36" Trim Chain, 1/4" Proof Coil Z
with 1/4" Shackle and 1/4" Thimble 2 015-1192 13.50
I
36" Trim Chain, 1/4" Proof Coil
with 5/16" Shackle and 1/4" Thimble 2 015-1191 15.50 G
36" Trim Chain, 1/4" Proof Coil G
with 1/4" Shackle and 3/16" Thimble 2 015-1193 14.00
015-27X8 ——
Beam Clamp, 3/8" Throat, 4"- 8" Grip Range 2 015-698 17.00 Guided Cable Clew m
Beam Clamp, 3/4" Throat, 4"-9" Grip Range 2 015-798 17.00
Guided Cable Clew, 8 Line, Heavy Duty 5 015-27X8 70.00
Pipe Grid Cross Clamp with Black Hardware 2 015-100 15.00
J-Bolt, 3/8" x 4" with Nut and Washer 1 043-4) 1.15
1/4", Proof Coil Chain, Grade 30, Zinc Plated NG 022-250 1.50 ft.
3/8", Proof Coil Chain, Grade 30, Zinc Plated 1.5 022-375 3.15 ft.
Cable Cradle for Cable up to 2" Diameter 10 015-295 57.00
015-100
Double Purchase Cable Cradle 40 015-295DP 295.00 Pipe Grid Cross Clamp
L]
Light Duty Blocks — —
Description Weight (Ibs) Product Code List Price (Ea) C S T =
3", 1 Sheave for 3/8" Rope 35 013-175 83.00 222}20501 -
root Coli ain
3", 1 Sheave for 1/8" Wire Rope 3.5 013-176 80.00
3", 2 Sheave for 3/8" Rope 4.5 013-275 105.00
3", 2 Sheave for 1/8" Wire Rope 4.5 013-276 100.00
3", 3 Sheave for 3/8" Rope 5.5 013-375 155.00
3", 3 Sheave for 1/8" Rope 5.5 013-376 145.00

Q - Quick Ship - See page 15 for details
013-176
Light Duty Block

2008 PRICE SCHEDULE = TEL: 315-451-3440 = FAX: 315-451-1766 = www,jrclancy.com = 1-800-836-1885 ’RCLM




i3
o
Q
&
L
Q
Q
<
S
Z
S
O
=

Synthetic Rope

M High strength polyester.

M No slivers.

M Rot resistant.

B SureGrip® is an improved version of
Multiline II™ with wear indication.

H Multiline I™ 3-strand,
twisted construction.

M Stage-Set X™ parallel filament core
with braided cover.

Options:
M Other sizes and colors.

o N e N e

028-750SG — SureGrip®

§ e s e
X e =

028-750X — Stage-Set X

015-520R and 015-249
Pinrail with Belaying Pins

Curtain Track Components

B Curtain tracks are furnished
complete with all necessary
accessories (CWANA) for
normal use. Special features
at additional cost.

M Carriers 12" centers.

Options:

M Additional track styles,
components and curtain
machines are available P.0.R.

024-280
Heavy Duty Traveler Track

SRCLANCY

Synthetic Rope soidin 600" and 1200’ Rolis only

Description Weight (Ibs) Product Code List Price (Ft)
5/8" Ropes
5/8" Diameter Multiline IT™ 12 028-625M a7
5/8" Diameter Stage-Set X™ 13 028-625X 1.37
5/8" Diameter Multiline I™, Black 12 028-B625M 1.02
5/8" Diameter Stage-Set X™, Black 13 028-B625X 1.73
3/4" Ropes
3/4" Diameter SureGrip® .16 028-750SG 91 Q
3/4" Diameter Stage-Set X™ .18 028-750X 1.63
3/4" Diameter SureGrip®, Black .16 028-B750SG 1.21
3/4" Diameter Stage-Set X™, Black .18 028-B750X 1.98
7/8" Ropes

7/8" Diameter Multiline II™ 21 028-875M 1.53
7/8" Diameter Stage-Set X™ 24 028-875X 2.50

1" Ropes

1" Diameter Multiline IT™ .25 028-1000M 1.70

1" Diameter Stage-Set X™ 34 028-1000X 3.10

Rope Rigging Hardware

Description Weight (Ibs) Product Code List Price
Pinrail, 3-1/2" Pipe (Min 4') 25 015-520R 195.00 ft.
Pinrail, Double Pipe, 3-1/2" Pipe (Min 4') 45 015-520D 220.00 ft.
Wood Belaying Pin, 21" Long, 1-1/8" Diameter 1 015-249 17.00 ea.
Steel Belaying Pin, 3/4" Diameter 015-439 36.00 ea.
Steel Belaying Pin, 1-1/16" Diameter 2.2 015-449 30.00 ea.
10 Ib. Sandbag (Without sand) 1 015-1096 60.00 ea.
25 |b. Sandbag (Without sand) 1 015-2596 63.00 ea.
50 Ib. Sandbag (Without sand) 1 015-5096 65.00 ea.
100 Ib. Sandbag (Without sand) 2 015-10096 95.00 ea.
150 Ib. Sandbag (Without sand) 2 015-15096 100.00 ea.

Curtain Tracks

Description Weight (Ibs) Product Code List Price (Ft)
Aluminum |-Beam Track, Bi-parting 2 024-141 29.58
Aluminum |-Beam Track—Walk Along 2 024-142 26.27
Medium Duty Traveler Track, Bi-parting 3 024-170 26.04
Medium Duty Track—Walk Along 3 024-173 17.28
Heavy Duty Traveler Track, Bi-parting 4 024-280 34.16
Heavy Duty Track, Neoprene Wheels 4.5 024-281 68.66
Heavy Duty Track, Nylon Wheels 4.5 024-282 60.06
Heavy Duty Track, Nylon Wheels 5 024-283N 67.87
Heavy Duty Track, Neoprene Wheels 5 024-283R 83.82
Floor Block Sand Bag 15 015-FBSB 65.00

Q - Quick Ship - See page 15 for details

2008 PRICE SCHEDULE = TEL: 315-451-3440 = FAX:315-451-1766 = www.jrclancy.com = 1-800-836-1885



Smoke Pockets

Description Weight (Ibs) Product Code List Price (Ea) 016-9
6" Deep Smoke Pocket, 5 feet 111 016-106005  420.00 Round Weight
6" Deep Smoke Pocket, 10 feet 222 016-106010 690.00
8" Deep Smoke Pocket, 5 feet 119 016-108005 420.00
8" Deep Smoke Pocket, 10 feet 238 016-108010  800.00
6" Deep Smoke Pocket with Track, 5 feet 125 016-106T05 560.00
6" Deep Smoke Pocket with Track, 10 feet 250 016-106T10 960.00

016-SEAL4
Smoke Seal Assembly

Fire Curtain Hardware

Description Weight (Ibs) Product Code List Price (Ea)
Smoke Seal Assembly, 4 feet long 6 016-SEAL4 65.00
Round Weight Arbor 3 016-8 40.00
Round Weight Arbor Guard 15 016-13 99.00
5# Round Weight 5 016-9 6.00
Square Floor Plate .8 016-97 25.00 016-14L
Fire Line Release, Lever with Sign 3 016-14L 110.00 Fire Line Release
Fire Release Enclosure 10 016-14EX 115.00
Curtain Guide, Bronze Spool 3 016-170 11.75
Curtain Guide, Plastic Spool .15 016-171 9.45 - e
Curtain Guide, Steel Rollers 1.3 016-370 45.00 BRE CURTAIN I
Sure GuardII® Electrical Release System 40 016-970 1,780.00 RELEASE ;'
: : INSIDE t
Fire Curtain Arbor Release —
Includes awning pulley, ring, shackles 10 016-AR 170.00
Hydraulic Dashpot, 60" Stroke, Heavy Duty 200 016-410L  7,500.00 016,145
Hydraulic Dashpot, 60" Stroke 115 016-411L  6,000.00 Fire Release Enclosure
Fusible Link, Model-D, 165°F .04 016-7519 1.85
Electro Thermal Link 2 016-ETL 195.00
Rate of Rise Detector 5 099-281B 40.00
Swivel Eye Awning Pulley 1 099-SWEP 30.00
2# Line Weight 2 016-10 50.00
Description Weight (Ibs) Product Code List Price (Ea) ]
Manual Brail Winch w/Hydraulic Descent Control 315 016-430H  6,700.00 016-970 — Sure Guard II°
Electrical Release System
Powered Brail Winch w/Hydraulic Descent Control 320 016-430P P.O.R.
Fire Curtain Traction Winch, 2000 Ib. Capacity — 016-2TW P.O.R.

016-AR
Fire Curtain Arbor Release

016-7519
Fusible Link

2008 PRICE SCHEDULE = TEL: 315-451-3440 = FAX: 315-451-1766 = www,jrclancy.com = 1-800-836-1885 ’RCLM

(O]
=
O]
O
o
oJ
)
Z
=
o
=
&
S
-
L
LL
<
7y
L
o
LL




P ®
Console Components SceneCOHt I'Ol CO“SOIe
Z H Uses simple, touch screen, for Description Weight (Ibs) Product Code List Price
m selection and control of hoists. SceneControl 500, Wall or Table Mount 050-SC500 PO.R.
. cusktom 3D tiew of o f.tage SceneControl 500, Adjustable Height Pedestal,
makes operation Instinctive. Meets ADA Requirements 050-SC500P PO.R.
M Two independent playbacks
m allow dramatic movements. Hand Held Pendant 050-SCP PO.R.
B Two joysticks for instant SceneControl 100, 1-5 Channels,
—_— speed override. Fixed or Variable Speed, 6" Touch Screen, Text Display 050-SC100 PO.R.
’ M Reliable, industrial components
for dependable performance. . .
o PowerlLift’ Hoist
m Description Weight (Ibs) Product Code List Price
Fixed Speed
a PowerLift Hoist Components 20 fpm, 2,000 Ibs, 1.5 hp (Push Button Control Only) 750 018-P0220 PO.R.
m 20 fpm, 2,000 Ibs, 1.5 hp (Used with SceneControl) 750 018-P0220F PO.R.
H PowerLift Hoists include: N .
«7 x 3/16" diameter Lift Lines Variable Speed — Used with SceneControl System
I = 65' of Travel 120 fpm, 1,250 Ibs, 5 hp 770 018-P1212V PO.R.
< " ot Brake and SureBrale™ 120 fpm, 2,000 Ibs, 7.5 hp 800  018P1220V  POR.
E « Integral Head Block 180 fom, 1,250 Ibs, 7.5 hp 800  018-P1812V POR.
= Normal & Overtravel . .
Limlt Switches PowerLift Options
O » Power & Control Cables Load Monitoring Option 5 018-PLLOAD PO.R.
piconnactoniating Cover 20 14-130 POR.
h Receptacles, and Wireway
Receptacle Boxes, Maintenance Pendant 12 050-PLMP PO.R.
: as appropriate
< - ae .
PowerAssist’ Hoist

Description Weight (Ibs) Product Code List Price
25 fpm, 2,000 Ib Set Capacity, Single Purchase 200 018-PA PO.R.
25 fpm, 2,000 Ib Set Capacity, Double Purchase —
Includes new arbor and head block 425 018-PA DP PO.R.
SceneControl 50 Position Control 25 050-SC50 PO.R.
u
e Push Button Control Stations
M Control Stations include: Description Weight (Ibs) Product Code List Price
* Key Operated On/0ff Switch Single Channel Station 13 050-CS1 POR.
= Red Mushroom Head
E-Stop Button Two Channel Station 15 050-CS2 PO.R.
* Service Light Thee Channel Station 15 050-CS3 POR.

Ptmer]jft@

018-P0220

050-CS3
Three Channel Station

SceneControl®
050-SC500P
PowerAssist®

018-PA

2008 PRICE SCHEDULE = TEL: 315-451-3440 = FAX:315-451-1766 = www.jrclancy.com = 1-800-836-1885




Doing Business with J.R. Clancy

Don’t Hesitate To
Contact Us

We're here to answer your questions or
concerns. Please feel free to contact us for
technical assistance, budgets, quotations,
or product information. You can also check
on your order, get help with installation
questions or safety issues, or just share
ideas with us. We're committed to meeting
your needs and we’ll do everything
possible to give you 100% satisfaction.

We’re a 24-Hour Company

Our office hours are 7:30AM—5:30PM
EST/EDT Monday through Friday. However,
with our voice and e-mail systems, you can
leave orders or messages at any time day
or night. If your call is extremely urgent, you
will be able to reach an operator who will
have the appropriate person return your call.

FOUR WAYS TO
REACH US QUICKLY
1-800-836-1885 or
1-315-451-3440
1-315-451-1766
rigging@jrclancy.com
www.jrclancy.com

Phone:

Fax:
E-Mail:
Web:

Total Satisfaction

We want you to be totally satisfied with our
equipment and our service. We promise to
provide you safe, quality equipment on time
exactly as you've ordered. If an installation
problem arises due to an error on our
part, we’ll make it right at our expense.
We'll send you a replacement, allow you
to return it for full credit, or reimburse
your direct out-of-pocket expense for
correcting the problem.

Prices Based on
Standard Equipment

This price schedule is effective January 1,
2008, and may change without notice.
All transactions are subject to our terms
and conditions which may be found on
our website. Prices are based on standard
equipment and any modifications are
billed as extras. You are responsible for

taxes or other fees.

2008 PRICE SCHEDULE = TEL: 315-451-3440

Typical Turnaround Times

Please let us know if you have special
time requirements — we’ll do our best
to work with you.

Quick Ship

Up to three sets of standard equipment
can be shipped within three business
days of receiving your order.

Standard Equipment

Up to 20 sets of equipment can be shipped
in 2-4 weeks from receipt of your order if
no modifications are required. T-Bar,
J-Guide™, and modified equipment (special
mounting, extended base angles, etc.)
will take longer, as we’ll prepare drawings
for your approval before fabricating the
equipment. Typically drawings take 2-3
weeks to prepare after you have provided
complete information; once you approve
the drawings 4-6 weeks will be required
to fabricate your equipment.

Custom equipment, such as motorized
components, special sheaves, or other
engineered equipment will take a

little longer.

Taxes, Freight and Duties

Prices do not include taxes, freight or
duties, and shipments are FOB Syracuse,
NY. You may, at any time, arrange for
transportation.

Otherwise, we will ship by a method with
which we are most familiar and request
insurance equal to the value of your
order. To recover the cost of handling
these arrangements for you, we add 10%
to the actual shipping charge.

The carrier is solely responsible during
shipment. In the event of loss or damage,
we will do everything in our power to help.
Claims, however, must be filed by you
directly with the carrier regardless of who
has arranged the transportation. We will be
happy to assist with international shipping.

Payment Terms

Open accounts with net 30 day terms are
available to credit-qualified customers.
Alternative payment terms, such as
payment by joint check or pre-payment
at a discount, are also available. We may

= FAX: 315-451-1766 = www.jrclancy.com

request deposits and progress payments
on custom equipment or large orders.
Large international shipments of products
not prepaid require a letter of credit.

For under $100; we ask that these orders
be paid in advance or charged to a VISA,
MasterCard or AmericanExpress.

All invoices not paid when due are
charged interest at 2% per month,
and costs of collection are paid by the
invoiced party.

Handling Returns

Mistakes can happen, so please call us
if you need to return a standard item.
We'll give you a return authorization, and
ask that you return equipment within

60 days. Returns may be subject to a
restocking fee.

Three-Year Guarantee

We guarantee all equipment
manufactured by us to be free from
defects in material and workmanship
for three years (one year for motorized
equipment) from the date of shipment.
At our option, we will repair or replace
the equipment at our factory.

Any warranty on items manufactured
by others will be assigned to you.

No claims will be honored for equipment
or in circumstances where, in our
opinion, the equipment has become
defective due to misuse, abuse, accident,
act of God, alteration, vandalism,
ordinary wear and tear, improper
installation, improper maintenance,

or used not in a manner intended.

We make no implied warranties of

any kind including no warranty of
merchantability, or warranty of fitness
for a particular purpose, all of which are
expressly disclaimed.

We will not be liable under this guarantee
for consequential or incidental damages
of any kind, including damages due to
lost profits, loss of use, delays, personal
injury or property damage.

This guarantee will not become effective
unless the equipment has been paid
in full.

SRCLANCY 15

1-800-836-1885



18004161885

Automated Rigging

Visit us online at
wwwjrclancy.com (Sl

P Complete Product Information — You'll find information on all of our standard
products, including photos, descriptions, dimensions, specifications.

P> Automated Rigging & Controls — Everything you want to know from product
data, installation tips, white papers, and magazine articles, to specs and manuals.

P Operations Manuals — Available for counterweight sets and fire curtains,
as well as our control systems.

P> Safety Signs — You can order or download signs with rigging safety data, operation
instructions, and a place for you to list set capacities.

P> Parts Pricing — Information and prices for spare parts and accessories.

P> System Design Guide — This booklet will help you explain the why’s and how’s of
rigging to architects, owners, and other decision makers.

P> Posters — Another great tool explain how rigging works — request these for free!

Don’t miss these other informative sites, too:

> www.rigging-safety.com
A great source of rigging safety information for users, educators, architects, and dealers.

» www.surelock.info
Learn more about SureLock® rope locks and why they could be right for your theatre.

» www.lumalift.info
See the new Architectural Lighting Hoists from J.R. Clancy.

'R w Design, Manufacture and Installation of Theatrical Equipment Worldwide
A

bl 7041 Interstate Island Road ®= Syracuse, NY USA 13209 = Fax: (315) 451-1766
(315) 451-3440 = 1-800-836-1885 = rigging@jrclancy.com ®* www.jrclancy.com

© 2008 J.R. CLANCY, INC.




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness false
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages false
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 150
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages false
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 150
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages false
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 600
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /ENU (Use these settings for all pdf proofs.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /BleedOffset [
        0
        0
        0
        0
      ]
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MarksOffset 6
      /MarksWeight 0.250000
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PageMarksFile /RomanDefault
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
    <<
      /AllowImageBreaks true
      /AllowTableBreaks true
      /ExpandPage false
      /HonorBaseURL true
      /HonorRolloverEffect false
      /IgnoreHTMLPageBreaks false
      /IncludeHeaderFooter false
      /MarginOffset [
        0
        0
        0
        0
      ]
      /MetadataAuthor ()
      /MetadataKeywords ()
      /MetadataSubject ()
      /MetadataTitle ()
      /MetricPageSize [
        0
        0
      ]
      /MetricUnit /inch
      /MobileCompatible 0
      /Namespace [
        (Adobe)
        (GoLive)
        (8.0)
      ]
      /OpenZoomToHTMLFontSize false
      /PageOrientation /Portrait
      /RemoveBackground false
      /ShrinkContent true
      /TreatColorsAs /MainMonitorColors
      /UseEmbeddedProfiles false
      /UseHTMLTitleAsMetadata true
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


